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Exercice 1
Calculer les intégrales suivantes :

3 2
1) I, = f:x”‘dx ;L = Ij(x2+3x+2)dx il = f%dx ;I = J;ZXEdX Ig = J;Z‘{/Fdx ;g = J.lzx_gdx.

26 = I_d s = J.12x1+1dx e = -[1 x2+1 ' I :)nsx I:x3x—4i2dx g
7 = 01exejrlOIX le = O%erlﬂ ’ J-@xlnx
iy = [l 1, = f%dx = [ 2 a1, = Emdx ;
b= I (x— 2)(x+2 e = I (x 21X)(x1+3)dx = J.O#erlHde 8= Jjﬁdx ’
41, = J.:_(XZZTl)ZdX sz = _[01— (ngizxti);(ilz)g dx ; I, = E()@?%B)de JIs = Jg;ci)zzxx dx ;
:mdx, 7= -[nglnx)Z = :de o = j\/_
5)1, = J- \/_ ’3_,[\/— :B%dx J- smxcosx
X2 +1 2X%2+3 m

6) I, = .fgsin x(cosx pdx ; I = le(x2+1)5dx ;1= f@dx ;s = J:x(\/xz +1)3dx ;
I = J.mezx(e2X +1)3dx .

NI = I cos(2x+ 3jdx I, —I sm(Bx—gjdx & —.[ cos® xdx ; Iy = I cos® xdx ;

V1 T T Va
Is = .[02 cos’ xdx ;I = j03sin2 xdx 31, = jozsin3xdx JIg = Lzsin“xdx.

Exercice 2
En utilisant une intégration par parties, calculer les intégrales suivantes :

L = j xcosxdx ; I, = I xsinxdx ; I3 = I xInxdx ; 1, = I Inxdx ; Is = j Inx
Ig = J:xln(x +1)dx ; I, = j:xzcos(4x+%jdx g = j:In(x+Jx2—H)dx o = j:(2x+3)ln(x +1)dx ;

I X X— 0 -X
= If szzi( Ii; = J'lee dx ; I, = .[lee2 x ;I3 = an(x+1)e dx ;

Ly = L (X2+1)ezxdx ;s = dx ; L1 = I_o,nze_x In(1+2ex)dx.

1 X
Iﬁ J1+2x
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Exercice 3
Calculer les intégrales suivantes :

J1:I§|x—2|dx : J2=j§|(x—1)(x+2)|dx : %zjj%dx : J4:_[25‘x2—3x—4‘dx :
Jszjomxe‘xzdx ; JG:L:; %dx ; J7:J.01\/3x+2dx ; Jszfgdx
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